| Areé Under a Curve Quiz Néme:

Find the area un,de_r each curve between the ,indicéted Himits. (4 marks)

" Draw a sketch of each area. A (1 mark)
1 . » y:xz from2tb4‘ _

2. y-:sinxf-rom%tom
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Area Between Curves Quiz Name:

Find the area between the two curves given. (4 marks)

Draw a sketch of each area. (1 mark)
x2

1. Area between y = —2— and y=ux.
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2. i Area betweeny = —x? +4 and y=x




EVALUATING DEFINITE INTEGRALS
Calculus 12

Name:

Evaluate the following definite integrals:
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INTEGRATION BY SUBSTITUTION
Calculus 12
7
Name: A *f/«f:'i\;
Integrate the following using substitution. Clearly state u and du.
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INTEGRATION BY PARTS

Calculus 12
Pew
Name:
Integrate the following usmg integration by parts. Cleariy State u, du,
v and dv. N ‘ ~ A
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PARTIAL FRACTIONS

Calculus 12
Name: ‘\,@ujf :
Write the following as Partial Fractions — no need to integrate.
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Name:

Volumes of Revolution Quiz

Each question is worth. 5 marks. Show all work.

1. Find the volume generated when the curve y =x*+3x+2 1s rotated about
the x-axis between the limits of x=4. andx=7.

2. Find the Volume of the solid generated by revolving the area bounded by

the curves y =sin3x and y =x’ and the Ime ygﬁ about the X-axis.
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3. Find the volume generated when the curve y =e* is rotated about the X-

axis between the limits of 2 andg RS
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